March 22, 2011
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Slope Stations

Homework: p. 407 (21-25)
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Time (hours), £

Nadia's Distance
from Finish, N

Helenas Distance
from Finish, H

Bryson's Distance
from Finish, B

Mark’s Distance
from Finish, M
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c) Similar - all downhill, all linear
diff - different slopes

Slopes
Nadia = -5.2 Bryson =-4.85
Helena = -4.1 Mark = -3.8

d) Time to finish? about

Nadia = about 5 hours  Bryson = 51/, nrs

Helena = about 6 hours  Mark =about 7 hours

e) Equations
Nadia - N=26.2-5.2h
Helena - H=26.2-4.1h
Bryson - B=26.2-4.85h

Mark - M=26.2-3.8h
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& Develop & Understand: B

Chapter 8 page 391

Many joggers try to jog at a steady pace throughout most of their runs.

This is particularly important for long-distance running.

* Terry tries to jog at a steady pace of 4 meters per second.
* Maria tries to jog at a steady pace of 3 meters per second.

* Bronwyn does not know how fast she jogs, but she tries to keep

a steady pace.

8. Make tables for Terry and Maria to show the distances they travel,

d meters, in various times, f seconds.

Terry

istance meters) & KSR Ta oMM o

Maria
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Time (seconds), t 0 | 5 10 15,
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9. Write rules that show how distw with time ¢ for Terry

and for Maria.
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Terry:
Maria: 3—L—— 6-‘»
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Real-World Link
The maximum speed a human
being has ever run is about
27 miles per hour. The fastest
animal on Earth, the cheetah,
has been clocked at about

60 miles per hour.
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10. A timekeeper measured times and distances traveled for Bronwyn

and put the results in a table.
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Time (seconds), £ Uﬂ 5 10
Distance (meters), d 1 \l 17. 35
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@
How fast does Bronwyn jog? Write a rule that 6 é
relates Bronwyn'’s dlstance to time. ! . '
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. . Chapter 8 page 392
11. On one grid, draw graphs for Terry, Maria, P pag

and Bronwyn. Put time on the horizontal axis.
Label each graph with the name of the person

and the speed. s - S-S‘ N S—\zg&5
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12. Explain how you can tell from looking at the
graph who jogs most quickly and who jogs
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All the points on each graph you drew are on a line
through the point (0, 0). The steepest line is the one
for which distance changes the most in a given
amount of time, that is, when the speed is the fastest.
The line that is the least steep is the one for which
distance changes the least in a given amount of time,
that is, when the speed is the slowest.
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Chapter 8 page 392 - 393

Slope describes the steepness of a line. In this case, the slope tells how much
the distance changes per unit of time. More generally, the slope of a line
tells how much the y variable changes per unit change in the x variable.
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Sometimes slope is described as rise divided by run. This makes sense
because y changes in the vertical direction, or “rises,” and x changes in
the horizontal direction, or “runs.”
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Slope

Definition Picture

The ratio of rise to run R%&
which describes the =

steepness of a line. R\-\-“\ ¥

Reminds me of Sentence

-Example

This graph shows how Terry’s distance changed over time. To find
the slope, choose two points, such as (10, 40) and (20, 80). From
the left point to the right point, the y value changes from 40 to 80.
The rise between these points is 80 — 40, or 40. The x value changes
from 10 to 20, so the run between these pomts is 20 — 10, or 10.

The slope, the rise divided by the run, is 13’ or 4.

Terry’s Jogging Speed

3388

< Rise = 80 — 40 = 40
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